V. " = L AN
*®8 18EH B ## xT (FEa@ & FI4448158 )
i L 15
B B |R|#= LY T islE || = &
£ o E F 4 4L 8L || o 2 F 8 || ) & #
5| B B | ZE |EE = 2 |B|EE EANEE:S £
ABER | 5]1|0] & K 6 2182 |4|@ & B @ 0
1 & 2|6 & & % B|5|®| # B B # 0
1,626 mZ| m |3[@] U IH 5 6|Q@ X 1B B = 352, 400
i 1,049, 500
% _ 1,426, 000
R|2#E#E 125 110 2HH# 1~5 270 12,505, 900
£ | 3% 12325 790 3EHE 1~5~3 1, 890 2,811,300
28 D4 F 125 100 325 370 18,145, 100
A R (ERED 091 @ # £ = .9 216.8)S 4@ £ M K & 7|® 0
2 ¥ E | V2@ % 0o E o 5|6 & A & % 0
1,625 mZE| m |3|[@| T @ & i) Bl6|@ B g F # 396, 200
i 1,219,100
fi . 1,501, 400
R 2H{ 324 370 2HH 3~4 600 14, 387, 800
£ | 3:@#E 32427 230 3EHE 3~4~7 1,000 308, 800
28|04 F 324 140 =7 220 17,813, 300
ARRGERD | (3] 1|@] b I .9 2.16.5 41| 5 & B 7 76| & = 0
3 ¥ & | V2|0 & W A S B|s|@| W %= # & |s 0
1,626 mE | M [3|D| H F = & 6@ # £ ] 535, 400
i 1,728, 600
fia 1,612, 200
R 2H{ 426 130 2HH 4~6 580 15,369, 100
£ | 3:8HE 12426 650 3EHE 4~6~1 3,390 305, 800
B[ O4F 426 120 =6 330 19,551, 100
ABRGERED) | | 1(®] B B & 1 2B B[4[@] W B £ A 7@ 0
4| ¥ & | 2|60 F & # & 5/@ O B & 0
1,626 mE| m |3|(D| = @A 5 6|® — A R & 455,900
i 1, 400, 100
fia _ 1, 334, 800
R |2#H%E 325 2,610 2HBE 3~5 4,950 15 520 000
& [3@% 12325 6, 850 3EE 3~5~1 20, 130 "316. 900
¥8 D4 F 325 630 180 =5 1,410 19,027, 700
ABRGEED [ 5[ 1]®] & # — 1.5 224 Bl4]0D &2 B & & 71®@ 0
5 oMEE | V2|0l ®E X B f 5|@| @ A B K|S 0
1,626 mZE| m 3|6 ARE L] 6|@| WFE B F 673,700
i 2,090, 800
% _ 2, 623, 000
R ZE*E 326 6,310 2HHE 6~3 8,610 29 047. 900
% | 38E#E 32526 4,710 3#H 6~3~5 42,290 ' 525 500
28 [ D4 F 326 1,540 325 360 27, 960, 900
SHEGERE | 5|1|@] & B B 5 2543 41®| & M ot 0
6 ¥ ® Cl2|le B X B % B| 5 B E 0
2025 mE| m |3|@| K BE IE & E DR o E S 471, 400
i 1,332, 600
fi . 1,521, 300
R 2H{f 225 950 2HH 2~5 1,730 16. 178, 200
€ | 3#EE 22425 1,720 3EH 2~5~4 3,810 ' 353, 500
28| J4F 225 560 =5 1,100 19, 857, 000
SHER | 15[ 1]/ B & 4 2519 [4]|O| & #& # & 0
71 2 | °l2|@ %= B # s|s5|® B & % 0
206 mE| m |3|6G)| # H# o 6|®| # M £ & |8 522,100
h 1,504, 100
fia 1,351, 200
R 2H{# 224 3,340 2HH 2~4 7,830 14 181 000
& [3@8 22425 3,140 3EHE 2~4~5 29, 950 ' 284, 000
|04 F 224 530 425 330 17, 842, 400
SHER) [ 5]1]@] 2 & 1.6 255 B]4][]® & B B = 0
8 F & |20 b B 18 sS|5|@ M B # % 0
206 mE| m |3|@| = & 18 6|®| M A 2 % 371,000
h 1,417, 400
fia _ 1,536, 600
R|28EHE 122 630 2HE 2~1 1,190 14 611 300
£ [3@E 12224 170 3EHE 2~1~4 1,670 ' 263,400
BOLR 122 140 =4 130 18, 199, 700
SHREEED | o410 B B 12512 |4 H B | B|7]|® 0
0 FE | 7|20 8 # % S |5|@| K & RS 0
206 mE| m (3D = & 7] 6@ A ® B K 550, 000
i 1,673, 500
% _ 1,751, 300
R ZE*E 325 930 ZEE 5~3 1,660 17. 453 100
& 38#E 12325 1,260 3EHE 5~3~1 7,140 ' 323’ 500
28 [J4 F 325 320 1223 400 21,751,400
SHERE) |1 45] 1G] & # 5 25600 [4|@| B & £ & 71® = 0
10| =& | °|2|l@ B S B|5|®| = & M % 0
20 mE| m |3(Q| Bl R 5 6D X K B & 398, 600
i 1,701, 000
fi . 1, 642, 400
R 2#H#E 225 510 2HHE 5~2 630 17, 864, 500
% | 3:8#E 22325 770 3EHE 5~2~3 1,390 231, 200
28|04 F 225 260 =3 630 21,837,700
SHEERE) | gq(1|®] # B # .8 3.026/SB|4|@| & E 8h = 7(® 5 0
111 == |"7|2(@0 = = # # 5 B s E X 0
2,006 mEZ| m |3|D| B # K D) 6|® B # # 545, 800
h 1,796, 200
fia 1, 654, 800
E|[25# 324 1,040 2&EH 3~4 1,100 20, 587, 200
& [3@8 12324 1,130 3EHE 3~4~1 4,010 ' 240, 400
%8[O K 324 400 =4 520 24, 824,400
SHREGEED | 4 ;| 1|@] W B 1.6 2541 B[ 4[®| B & E 710 & 0
12| o= | °l2|0 # B & 55 5|0 & R A & 0
20 mE| m |3|Q| # k£ B 6D ¥ £ & 3 967, 100
i 3,920, 800
fia _ 3,565, 600
R 2H{# 425 2,070 2HHE 4~5 2,550 43. 880 900
£ [3@%E 22425 310 3EHE 4~5~2 7, 450 " 426,200
8| D4 FK 425 460 =5 470 52,760, 600

ILEEEISGNEBEHFTE HEER: (28HJkKA  BHMAFE  10:.00
A 4= I'rh-lr
SHMAFEESE 2 [ #EF2 A A*n4¢4ﬁ165(|)
FEA B SHR F I
RR H:H I /
FHH Gz BE&K: 400m ALGLE ﬁ 56.7m FE4E: KBRFFEMAT
CEIEIEHCHEBAOEL, BRESHEHD ( Yy EI—OLTLEESLY,
HEeL—RIZEWT, 21‘-’#%'21‘3—“*’5@%%liiét\$ﬁh®'€_,I,.AKT:‘éL\o
_ = |el=[elw] e & A _RYF [s|s TR "
L= 2 5wl = B |5 EE  FY i (B0 T K| mcEmE A& (TR
DT — -
41 e o glololeooolTT 8553 |7 @0
/ .
% A & 2% 5t B 5 K2E |115]3.86 Toga| 1100l 7|HE F727 ® 640
A  13F S A g gk B 90[3.0 gt [ofo]1Jol6[o[BEES S AT
- mx Tl ¥/ - y —
X 4@§éf§;} A, Zy36x | 953.92 B0 o411 1]|FaEm 555
o [BBU e m e w wee a0l e[z ofo[ % 24
_. | (cEBETE)
Bl | 625m
EJ —_
@ep10:36] (SFEID
#3E10:40
Yy =
2 OCRIE NPT S w01 [2]s[o]o[F R ass [0
- : '
z A SR JELIA B th)3x #9239 82,0502 |30]3|4| N B 55 ® 640
8| 7 (30 53 mil42f@ 1w ss[3 03 8.28T0[ 12 0fo[o0|2 Fuk 02 <8
i C [aeEs = % E[0E ) 703.92 Bossloloolojo]o[B R 2 %% swam
A P2 EER T8
% QEISLIHE . SR B8]0 o 4ofofo[RE*EE S 5
(SEEEEE
"™l 1, 625m
= goep11:06] (SEILD
FE11:10
L7 e
IR0 T s e s[ufw ] IIE ) B O T I
iR = .
g 2R T P ke R ONER N .
25 1 s N
Bl e CEHER = A |2iE #[113[3.92 88051143 1[1]6|B® B2z A4
gl ** [dE[a[E s 8 aep i 2 NN DD AE
o [ m s s m mi T [o[s 02022l 818
BEERE e % . 2% B
w| FEEE| BRI g gy2® m)119]3 92 Byge|12]10[4] o[ 4]1[F} Bt 1 0 O
al " ot Y — sglels @] s ogglals|1lo[o[o|E £87
#weam
se11:5| (7FL)
773+ ::.
%l- |1®E'§ I A34EE & 97)3.92 86,92 0lo(6|1[1]|0|E ;gég % 1328
T = )
] 2@/} 5= & EPE R N3 9%e gel0] 011/ 2[4]0[F M T Y ® 8.0
P 10 N TR - BN R X ol ]o[s|2|T|FE B606 =m
x| [A@ENAEm & e BlinEale 55110112/ 6[3|9[3|ER Eadem
[N B 86. 32 P20 & 5 1 2
A (SEEEEE) il Lvm Ty 1§ = il i 85428 AT Eggﬁg 2 ég
ﬁt 1_6«-;511 6@ﬁ§} .E ':L!'z\ #_E ’574392% 841;/20022 Eg:‘iz:g
, m 2% e = o . N
] P D\t 5 | & {#3fE MM@)105)3 83 21| 7111010 205 B 107
1205 (7D




) o Al

b1}
54
th
i
B

) o Al

A+

i)

) o Al

e

[=]

) o Al

AR @

i)

_ NE R | e -1: ) 4 EBIRE B OR|_RYF s|B iERE -
L—R |Zalmn & F B |[SBR 0 ¥V 157574 iy x [E B2 T K 12 B8 R (FH)
A L - S8 88,78 A M10 4
B o e e osalox minfwlt 818163 2[0]1|12(RE 2193 o

IEEY N ] F2# R 525 ’
A 4 208 e B Falasl= & 103,92, 84.9%90(0|5|2[3|o[Bh B2 55 ® 840
1 3®5|]__A“"’*_57’:’* sk @ 76]3.92 92.80 ol1lsl6l1]0 F2# R X5 A EH
HE SR TP fE SRR S [6) T571 I 000
ZYEh 45°tn S . F1# W
4@ELE A B KPRk K 23y 2] 2]2]0] 1|5 Ba %%
biolE e e = kB & 98392 B Il1]9l2/0]6|6|2E=2OTS
ZEEE ¥zyoyn N
(SEIREIE) 6@@@%—- "5 g j42/E 1[100[3.86] 84.8110|1]3l0|1|o|2k BT
Lo m 1Tl Mg " mPE B{i0s[s.02f, 89.00011]5]4[2|1|BEEID?2
E012:42
. (7 E#31)
FE12:46
NETREERELE 95.30 FI)Il 5 5 6 5
- 6 HEEE BR[O BR|103[3.92/ , 53011 02| 1]|1|7|Ha ®ees D
yth  3v4h ’
S @ 2|2 5 T = =[om x| 80l Blojoj2|1|o|o|GBR 285 4x |®@ 120
1 3@9}__32_}_’"7!:!157} o= =40k 4| 90[3.92 97_3000214063£Ej8416 A R
_ ﬁ% I~ 9 /2y = 7] . 6 142 F1F 8 4 1 3
A@E St iy oy =lem = 86[3.92[ sz3lolofojofoolEh 26e5°
I i . 5
bofE K T m = A s, L% s 1 15[ 1[BE ESES .
(%cEEE)
2,025m
@i13:13]  (SFAD)
FE13:17
% Hvi L F1al At
- 7 REENEIEE A Sl [2[e[s[1[8E 335, [0 mo
T4 9 " . GBE B ’
S @ 223 o= BE29K B/109]3.92(, 10041111 1|1{of1|s|BE 129 ® 123.0
! PRIELT . e
_ @ [BEFEE T g Z8m W e, utlololojojojo|BF S48 A EH
4@|5 5% H m prelE m| s630l, %.8810l0/5/0f2|0|BF £33552
/L3 7399 a - . FI 5 K 3
bloj® g At B2 RASIE 8/109)3.92) odglolofofolo]o]e: B %% wam
(%cEER)
2,025m
gi13:44] (SFID)
F7E13:48
Y934 54V _ ] F1R FF 4 6 2
BER o= s x e w e, 97.3¢1010/3|2|ofo|HZ F 252 o
AN T4 . F1 ’
S @ 202w & s21a20x % 85/3.92| ¢ 101830011 214[1]0|fis x5 04 ® 130
1 T _ B ] 63 E 17
. 3@/ 4k #s5132|=  %1053.92( £ 102,151 110/ 1] of5|6|Hm 22248 PES |
4LeE S A = lEE | o3, 1004 0ofoj4|2[2]|0|HE B 532
5% 3\th At £ =41 #| 86393, 104.4510f0l6|3[1]o|FFe%55%°
(BEE) 6@.@3““ “BE IE fgsiE w| 70[3.92|, %%olo|1[1]|5|0|f1 ES33
2,025m oS ‘m 2 wmvE w esel, Bosfolof2|1]3|o|HE &° 4t
#E014:15
seiao| (7FL)

* FHMEBEHT LAROY—ER
-fER (2EE - 28%) 0180—997703

T YRIEBAL TS,

- ABEFISARAIEL ., B (37. SELUELEZHR)AHOEETRIIABERIYLEY .

CERZEET S0, thDEEHREOMREZEF TS,
SFHEVEBICTH RSN,
KRS BLGRIIABERRL TS,
SHRO0F O IVARREDBGEEHBALIZEE IRV DO HHE EREEMAHDHE . BE14A LIRIZHF M ABFIR. AEROEHELHR
ERBEEINTOSE- Ml FE A QEMIL L ZE - i DEEE OREEMAHLIFE . BREDRVLHLEEIIAGEHRLTIZED,

CREMEICIE. BRMEN KOS AL AGEHIR T HIGEENHYET,
KEHDEAL208%(CHE>THD,

B IEEEICELAELLD,

- 2EAE - 2PHEA VR - EiR 0180—997701
- R (3:FE - 3:EH) 0180—997704

SfER (VA K- 2FKEE - 2HE)

- ZTOMA VAR K10 -ER 0180—997702

0180—997705

= [#[=eH] o grin] B | = SHER @ A| AUF [s|s TE R =
L—R Ealnm = F B SR YT oo |mnw(mmEo] 1]k mcmns REER
Z‘-1®E§m "I FRmEE | E 18| 8813.93) 9.8 00 /0|2(2|1]|0|BE F:2Q° g 191.0
- 159.0
VEE)  Yarrr z
g [2ARIA & & moE wopol. Oggo[2[alo]7[s[ARE 187 o o
Ul (3OS TR e e ] e, Taalo[o[1[1[2[o[RE FE8E° | +=m
f A@ESIHE "k Fn tnleE sl ssjse|, 989000[0lolaf1fo|H T3S
B L5 HERA 3
%Z S50 S F F+ & Fniek | es3ez, 102,1810|2|3|3|1|ofkX 2598,
i GL:] 1)) 1 -
ol v | TGl T s gl sl o] o]l [s[o o 123
B e I T e L e P 102332 1| 3lo]t|2|F ] B8
#Ht14:46
T A=
i 10 BRI R 220011516 1|6|4|5 0 5806° Do
- - 233.0
3z vans
B g [2EREETs & AwE s bl g0 a2 2[0[n%e 259, |5 iowo
Bl e 1332 2 s5ls[x s[i00]3 0 102.8813(4(0/0]0|8|H P8 %3 A £
# Sh re= F OF 'rh e 259 FI_¥ 532
e A@=3E " Kk M o s0fs0(g 1083010 o[5[1]1]0|F ™" Q392
# 56|% $m "k S5 |38E M| 89(3.92( 106.2%(ofojg|1|[1]|o|EE 23562
| CemEE) 6@@?";—@”@ F =0% 2103392 T lofol1lof1[2|HE Ee3 s
2 5 5
200m |\ Vol SIL e gn zelao= m| 88[3.02], B.38lojol3|3|3|o|EE ES52e®
#HE015:21
seisios] (7 FL)
YN E B e e oo [o]e] [REmises [0 mo
— - 233.0
¥y Ay .
B g [2elElE w2 mds ulepul 28 lo[o[1s[4[o]FE F5%° o o
e 3@|FS5E "B gt L[6E | 96393 16,2900l 0|5(1|1]0|8 % Eooe " RS
" “ = | §[hys 9 ] REE
2 [l e m i 35[0 [o 72302 2648°
th W %
i 5ol 5k Hy s #sfs0 m| 99(3.92[F 92001|5/3]0f0|7|HE 5272,
sl B T 5481011010 1[2]TE & 2 mm
ﬁ 3 VEY) - iR
N RN T w1 712o] 1 [o[8E 2027
#Ht015:56
I
i 12 BT S R 104651002 |5|3[o[fE B2@4 o ms
— - 233.0
L3hs 3y . ]
& o g [22BETH T & alr o[ nbelo w80l 1[aa[s|0[nEa828 |5 tseo
= sesnps S C)F St Ea36)n s 013925, 105.1810| 2| 4|0|2|0|H ks @F 3 PES
" Ga 5 L B s m skl g o[ 110 o[5]0|B 2,2 8532
7K JEh FUAY -
? 5% SR " g2 fri m 870 105.8810]1]3|2]|0]2|H% £999,
A GEmE) 6@?@3%}* B o= e s e, 9981202 1(0|2|4|HBgs 227
%: ‘Foa = -
200m (\Volel ST me AS[E &30 2 9.91210(2(0]0]6|FH Fex 2 o o
#Ht016:36
T
BERREIRIE4 7y ADFHERTY .
STHEH&EE47ADAZ— FREOHNITHREL., EBEEOERAICHITEEHKTY,
BKIZRE4 ¥ BORENYIRX LYy FE LYy TTEBLEZEIHTT,
OIHBHHE. 2B BES. BR. REBOEIRE. OIXERE. FBik (Bb LAY) DEIEEZRLET
3 | OXBEOBOBATRERANBREZ LA BYET ., Fhe, AEAL—RORBNBRELE, DI BTENBYET
_ | OMBURBERAITEALESCRANRATERC A,  ORRFHAL THBRT O EETATENBYET
B | OBBLRDIH-EHONEG. BEROTIEIELOET,




